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jpwe;j nghUshjhuj;jpd; Ngupdg;nghUshjhur; rkepiy 

 jpwe;j nghUshjhuj;jpy; gpd;tUk; ehd;F Jiwfs; fhzg;gL;k; 

 

 

 

 

 

 

 

 
 

 jpwe;j nghUshjhuj;jpd; Ngupdg; nghUshjhur; rkepiyiag; gpd;tUk; ,uz;L mZF     
Kiwapd; fPo;Nehf;fyhk;. 

(I) tUkhdr; nryT mZFKiw (Y=E) 

nghUshjhuj;jpd; nkhj;jr; nryTfs;/ nkhj;jf;Nfs;tpf;Fs; cs;slq;Fk; tplaq;fs; 

 Efu;T (C) 

 KjyPL (I) 

 murhq;ff; nfhs;tdTfs; (G) 

 Njwpa Vw;Wkjp (NX) 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

E=AD=C+I+G+NX 

Y=C+I+G+NX 

Y=E 

C= 500 + 0.8Yd 

T=100 

Tr50 

G= 150  M=160 

I=200 

X=100 

C= 500 + 0.8(Y-100 + 50) 

C= 500 + 0.8y-80 + 40 

C=460 + 0.8Y 

jpwe;j 
nghUsh 
jhuk; 

tPl;Lj;Jiw 

epWtdj;Jiw 

murhq;fj;Jiw 

ntspehl;Lj;Jiw 

1 

2 
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,jidg; gpd;tUk; ml;ltiz> tiuglj;jpd; %yk; tpsq;fpf; nfhs;syhk;. 

1. ml;ltiz 

 

 

 

 

 

 

 

 

NkYs;s ml;ltizapd; gb nrytpd; $Wfspd; $l;Lj;njhif 3750 vd;w rkepiyj; Njrpa tU-
khdj;jpw;F rkdhff; fhzg;gLk;. 

 

2. tiuglk; 

 

 

 

 

 

 

 

 

 

 

 

NkYs;s tiuglj;jpy; rkepiyj; Njrpa tUkhdf; Nfhl;bid nryTf;NfhL A vd;w Gs;spapy; 
ntl;br; nry;Yfpd;wJ. mjpYs;s 3750 &gh rkepiyj; Njrpa tUkhdk; MFk;. 

Y T Tr Yd C I G X M NX E 

3000 100 50 2950 2860 200 150 100 160 -60 3150 

3250 100 50 3200 3060 200 150 100 160 -60 3350 

3500 100 50 3450 3260 200 150 100 160 -60 3550 

3750 100 50 3700 3460 200 150 100 160 -60 3750 

4000 100 50 3950 3660 200 150 100 160 -60 3950 

450 

Y=E 

C+I+G+NX 
E 

3750 

750 

0 3750 Y 

jd;dpr;irahd 
nryT khwp 
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(II) cl;gha;r;ry; ntspg;gha;r;ry; mZFKiw 

 

 

 

 

 

 

 

 

 

 

gpd;tUk; ml;ltiz> tiuglj;jpd; %yk; tpsq;fpf; nfhs;syhk;. 

(a) ml;ltiz 

 

 

 

 

 

 

 

 

 

  

 

NkYs;s ml;ltizapd;gb 3750 &gh tUkhdj;jpy; cl;gha;r ;rYk; ntspg;gha;r ;rYk; 
xd;Wf;nfhd;W rkg;gLfpd;wJ. 

 

ntspg;gha;r;ry; (w) 

1. Nrkpg;G (S) 

2. Njwpa tup (NT) 

3. ,wf;Fkjp (M) 

 W = S + NT + M 

I + G + X = S + NT + M 

J = W 

Y T Tr NT Yd C S M X I G J W 

3000 100 50 50 2950 2860 90 160 100 200 150 450 300 

3250 100 50 50 3200 3060 140 160 100 200 150 450 350 

3500 100 50 50 3450 3260 190 160 100 200 150 450 400 

3750 100 50 50 3700 3460 240 160 100 200 150 450 450 

4000 100 50 50 3950 3660 290 160 100 200 150 450 500 

jpwe;j nghUshjhuj;jpd; cl;gha;r;ry; (J) 

1. KjyPL (I) 

2. murhq;ff; nfhs;tdTfs; (G) 

3. Vw;Wkjp (X) 

 J = I+G+X 
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(b) tiuglk; 

 

 

 

 

 

 

 

 

 

 

NkYs;s tiuglj;jpy; cl;gha;r;ry; NfhLk; ntspg;gha;r;ry;NfhLk; A Gs;spapy; xd;iwnahd;W 
ntl;br; nry;fpd;wJ. mjpYs;s 3750 &gh rkepiyj;Njrpa tUkhdkhff; fhzg;gLk;. 

 

jpwe;j nghUshjhuj;jpd; nkhj;jf; Nfs;tpapy; khw;wj;ij Vw;gLj;Jk; fhuzpfs; 

 1. jd;dpr;irahd Efu;T    2. vy;iy Efu;T ehl;lk; 

 3. jd;dpr;irahd KjyPL    4. jd;dpr;irahd tup 

 5. jd;dpr;irahd khw;wq;fs;   6. murhq;ff; nfhs;tdTfs; 

 7. jd;dpr;irahd Vw;Wkjp    7. jd;dpr;irahd ,wf;Fkjp 

 

epiwnjhopy; kl;l rkepiy cw;gj;jp (YF) 

xU nghUshjhuj;jpy; epiwnjhopy; kl;l ntspaPl;bw;F rkdhf nkhj;jf; Nfs;tp fhzg;gLjiy 
epiwnjhopy;kl;l rkepiy cw;gj;jp vdg;gLk;. 

 

 

 

 

 

 

 

 

J.W 

450 

0 

-300 

3750 

J=I+G+X 

Y 

W
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E 
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Y = E 

AD/E 

YF Y 

,q;F YF vd;gJ 
epiwnjhopy;kl;l 
rkepiy cw;gj;jpiaf; 
Fwpf;Fk;. ,q;F 
gztPf;fNkh> 
gzr;RUf;fNkh 
fhzg;glkhl;lhJ. 
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tPf;f ,ilntspAk; RUf;f ,ilntspAk; 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

NkYs;s tiuglj;jpd; gb epiw njhopy; kl;l rkepiy ntspaPl;bid tpl nkhj;jf; Nfs;tpahd 

AD
1 ngupjhff; fhzg;gLtjdhy; A-B tPf;f ,ilntspahf fhzg;gLk;. mNj Nghy; AD2 vd;w 

nkhj ;jf ; Nfs;tp tisap epiwnjhopy ; kl ;l rkepiy ntspa Pl ;bid tpl r pw pjhff ;  

fhzg;gLtjdhy; A-C RUf;f ,ilntspahff; fhzg;gLk;. 

tPf;f ,ilntsp RUf;f ,ilntsp 

 epiwnjhopy;kl;l rkepiy 
ntspaPl;bid tpl cz;ik 
ntspaPlhdJ ngupjhf ,Uf;Fk; 
NghJ tPf;f ,ilntsp Vw;gLk;. 

(YF < Y) 

 epiwnjhopy;kl;l rkepiy 
ntspaPl;bidtpl cz;ik 
ntspaPlhdJ rpwpjhf ,Uf;Fk; 
NghJ RUf;f ,ilntsp 
vdg;gLk;. 

 ,q;F epiwnjhopy; rkepiy 
ntspaPl;bidtpl nkhj;jf; 
Nfs;tp ngupjhff; fhzg;gLk;. 

 ,q;F epiwnjhopy; rkepiy 
ntspaPl;bid tpl nkhj;jf; 
Nfs;tp rpwpajhff; fhzg;gLk;. 
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